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Question Id : 92090610533 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Head the following passage and answer the next five questions by choosing the correct
option:

Mara. a 24-year-old university student. seeks help for anxiety. She describes
feeling paralyzed when thinking about climate change and the future; Leon, 51 and a
father of three, requests treatment for panic attacks. They started last yvear after he
and his family evacuated their home again due to wildfires: Isabel, a 16-vear-old
climate activist, wants support due to ruminating about the climate crisis to the
extent that she can’t focus on schoolwork.

The opening vignettes demonstrate that the climate change crisis is taking a toll
on people’s mental health. Uncertainty. unpredictability, and uncontrollability are
three fundamental characteristics of climate change. Recent reviews have shown that
the negative impaets of climate change are complex, manifest cognitively,
emotionally, and physically and affect behaviours, relationships, and overall well-
being. One such manifestation is anxiety related to the ongoing anthropogenic
climate change or ecological doom, referred to as eco-anxiety.

The condition overlaps with other mental health disorders in the form of negative,
and automatic reactions to a felt threat. However, most empirical studies on eco-
anxiety to date surveyed the low-risk groups with smaller and unrepresentative
samples. Rigorous research is needed to more completely understand it. clarify its
distinet characteristics and contextual factors, and articulate its relationship with
other mental health conditions.

Experiences of eco-anxiety often include dystopian thoughts and apocalyptic
perceptions about the future, negative and sometimes intense emotions such as fear,
anger, guild, grief, and despair, as well as behavioural manifestations such as
insomnia and panic attacks. Causes and triggers of eco-anxiety vary from direct
exposure to traumatic extreme weather events like floods, hurricanes, and wildfires to
maladaptation to long-term environmental changes like land loss, water scarcity, and
pollution. It can also manifest in individuals without direct experience of climate
change, simply from the awareness of the potential existential threat it presents.

Health professionals are improving ways to communicate climate concerns. Their
voices are imperative for climate change communication and transformation.
However, the urgency and complexity of ecological and climate erisis demand an
interdisciplinary approach. Other disciplines can help advance these efforts by
providing opportunities for innovative thinking and practice, such as with a
sociological perspective regarding structures and connections in society; a political
scientific approach to tension, conflict, and social movement; and communication
strategies for patient-provider interaction, social support, community outreach, and
public engagement.

Media coverage of ecological crisis can evoke eco-anxiety. Current messages about
climate change are overwhelmingly negative, both linguistically and wvisually,
contributing to a sense of doom and gloom. Hope is central to humanity’s survival and
flourishing. Yet some caution that hope alone is not a panacea.

Sub questions



Question Number : 1 Question Id : 92090610534 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Based on the information in the passage. it can be inferred that all of the following
statements are true EXCEPT:

(A) An interdisciplinary approach is required to facilitate communication
regarding climate change crisis.
(B) Linguistic and visual media provokes eco-anxiety.

(C)  Eco-anxiety. its characteristics and context have been fully understood through
extensive research.

(D) The negative impacts of climate change affect behaviour, relationships and
overall well-being.

Choose the correct answer from the options given below :

(1) (A) only
(2) (B)only
(3) (C)only
(4) (D)only

Options :

92090641601. 1
92090641602. 2
92090641603. 3
92090641604. 4

Question Number : 2 Question Id : 92090610535 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match the words in List I with their meanings in List 11 :

List 1 List 1T
(A) Apocalyptic (I} Related to human existence
(B) Dystopian (II) Short piece of writing or
acting about a person, place
or event
() Existential (I1I) Prophesying a disaster or

total destruction

(D) Vignettes (IV) Relationship to an imagined
society in which there is
suffering and injustice

Choose the correct answer from the options given below:

(1) (A)-IV), (B)-(1LI), (C)-(11), (D)-(1)
(2) (AL, (B)-(1D), (C)-(IV), (D)-(D)
(3) (AR, (B)-IV), (C)-(D, (D)-(1I)
(4) (A)-(IV), (B)-(I), (C)-(111), (D)-(11)

Options :

92090641605. 1
92090641606. 2
92090641607. 3
92090641608. 4

Question Number : 3 Question Id : 92090610536 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“Hope is central to humanity's survival and flourishing. Yet some caution that hope
alone is not a panacea”.

Through the underlined segment the writer is trying to:

(1) instil fear about the seriousness of the problem of Eco-anxiety
(2)  warn that issue of Eco-anxiety can’t be taken lightly or ignored.
(3) assure that hope will resolve the issue of Eco-anxiety.
(4) mock the idea that hope and an optimistic approach ean resolve the issue of
Eco-anxiety.
Options :
920906416009. 1
92090641610. 2
92090641611. 3
92090641612. 4

Question Number : 4 Question Id : 92090610537 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Match List 1 with List 1l to complete the information on the basis of your reading
from the passage.

List [ List I1
(A) Manifestation of the negative (I) Intense emotions like fear, grief,
impact of climate change anger and lusomnia

(B) Experience of Eco-anxiety includes  (1I) Exposure to extreme weather and
maladaptation to environmental

changes

(C) Triggers of Eco-anxiety (III) Uncertainty, Unpredictability,
uncontrollability

(I} Fundamental characteristics of (IV) Cognitive, emotional and physical

climate change

Choose the correct answer from the options given below:

(1) (A)-(ILT), (B)-(IV), (C)-(D), (D)-(1I)
(2)  (A)-(IV), (B)-(ID), (C)-(111), (D)-(D)
(3)  (A)-IV), (B)-(D), (C)-(11), (D)-(11L)
(4)  (A)-(D, (B)-(I1D), (C)-(IV), (D)-(T)

Options :

92090641613. 1
92090641614. 2
92090641615. 3
92090641616. 4

Question Number : 5 Question Id : 92090610538 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Eco-anxiety can also manifest in individuals without direct experience of climate
change. This happens because of :
(1) their unstable mental health condition
(2)  they watch excessively negative media messages
(3)  they are fully aware of the potential existential treat it presents

(4) they are poor communicators and do not share their fears with health
professionals

Options :

92090641617. 1
92090641618. 2
92090641619. 3
92090641620. 4



Question Id : 92090610533 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Read the following passage and answer the next five questions by choosing the correct
option:

Mara, a 24-year-old university student, seeks help for anxiety. She describes
feeling paralyzed when thinking about elimate change and the future; Leon, 51 and a
father of three, requests treatment for panic attacks. They started last vear after he
and his family evacuated their home again due to wildfires; Isabel, a 16-year-old
climate activist, wants support due to ruminating about the climate crisis to the
extent that she can't focus on schoolwork.

The opening vignettes demonstrate that the climate change crisis is taking a toll
on people’s mental health. Uncertainty, unpredictability, and uncontrollability are
three fundamental characteristics of climate change. Recent reviews have shown that
the negative impacts of climate change are complex, manifest cognitively,
emotionally, and physically and affect behaviours, relationships, and overall well-
being. One such manifestation is anxiety related to the ongoing anthropogenic
climate change or ecological doom, referred to as eco-anxiety.

The condition overlaps with other mental health disorders in the form of negative,
and automatic reactions to a felt threat. Howewver, most empirical studies on eco-
anxiety to date surveyed the low-risk groups with smaller and unrepresentative
samples. Rigorous research is needed to more completely understand it, clarify its
distinet characteristics and contextual factors, and articulate its relationship with
other mental health conditions.

Experiences of eco-anxiety often include dystopian thoughts and apocalyptic
perceptions about the future, negative and sometimes intense emotions such as fear,
anger, guild, grief, and despair, as well as behavioural manifestations such as
insomnia and panic attacks. Causes and triggers of eco-anxiety vary from direct
exposure to traumatic extreme weather events like floods, hurricanes, and wildfires to
maladaptation to long-term environmental changes like land loss, water scarcity, and
pollution. It can also manifest in individuals without direct experience of climate
change, simply from the awareness of the potential existential threat it presents.

Health professionals are improving ways to communicate climate concerns. Their
voices are imperative for climate change communication and transformation.
However, the urgency and complexity of ecological and climate crisis demand an
interdisciplinary approach. Other disciplines can help advance these efforts by
providing opportunities for innovative thinking and practice, such as with a
sociological perspective regarding structures and connections in society; a political
scientific approach to tension, conflict, and social movement; and communication
strategies for patient-provider interaction, social support. community outreach, and
public engagement.

Media ecoverage of ecological crisis can evoke eco-anxiety. Current messages about
climate change are overwhelmingly negative, both linguistically and wisually,
contributing to a sense of doom and gloom. Hope is central to humanity’s survival and
flourishing. Yet some caution that hope alone is not a panacea.

Sub questions



Question Number : 1 Question Id : 92090610534 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Based on the information in the passage. it can be inferred that all of the following
statements are true EXCEPT:

(A) An interdisciplinary approach is required to facilitate communication
regarding climate change crisis.
(B) Linguistic and visual media provokes eco-anxiety.

(C)  Eco-anxiety. its characteristics and context have been fully understood through
extensive research.

(D) The negative impacts of climate change affect behaviour, relationships and
overall well-being.

Choose the correct answer from the options given below :

(1) (A) only
(2) (B)only
(3) (C)only
(4) (D)only

Options :

92090641601. 1
92090641602. 2
92090641603. 3
92090641604. 4

Question Number : 2 Question Id : 92090610535 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match the words in List I with their meanings in List 11 :

List 1 List 1T
(A) Apocalyptic (I} Related to human existence
(B) Dystopian (II) Short piece of writing or
acting about a person, place
or event
() Existential (I1I) Prophesying a disaster or

total destruction

(D) Vignettes (IV) Relationship to an imagined
society in which there is
suffering and injustice

Choose the correct answer from the options given below:

(1) (A)-IV), (B)-(1LI), (C)-(11), (D)-(1)
(2) (AL, (B)-(1D), (C)-(IV), (D)-(D)
(3) (AR, (B)-IV), (C)-(D, (D)-(1I)
(4) (A)-(IV), (B)-(I), (C)-(111), (D)-(11)

Options :

92090641605. 1
92090641606. 2
92090641607. 3
92090641608. 4

Question Number : 3 Question Id : 92090610536 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“Hope is central to humanity's survival and flourishing. Yet some caution that hope
alone is not a panacea”.

Through the underlined segment the writer is trying to:

(1) instil fear about the seriousness of the problem of Eco-anxiety
(2)  warn that issue of Eco-anxiety can’t be taken lightly or ignored.
(3) assure that hope will resolve the issue of Eco-anxiety.
(4) mock the idea that hope and an optimistic approach ean resolve the issue of
Eco-anxiety.
Options :
92090641609. 1
92090641610. 2
92090641611. 3
92090641612. 4

Question Number : 4 Question Id : 92090610537 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Match List 1 with List 1l to complete the information on the basis of your reading
from the passage.

List [ List I1
(A) Manifestation of the negative (I) Intense emotions like fear, grief,
impact of climate change anger and lusomnia

(B) Experience of Eco-anxiety includes  (1I) Exposure to extreme weather and
maladaptation to environmental

changes

(C) Triggers of Eco-anxiety (III) Uncertainty, Unpredictability,
uncontrollability

(I} Fundamental characteristics of (IV) Cognitive, emotional and physical

climate change

Choose the correct answer from the options given below:

(1) (A)-(ILT), (B)-(IV), (C)-(D), (D)-(1I)
(2)  (A)-(IV), (B)-(ID), (C)-(111), (D)-(D)
(3)  (A)-IV), (B)-(D), (C)-(11), (D)-(11L)
(4)  (A)-(D, (B)-(I1D), (C)-(IV), (D)-(T)

Options :

92090641613. 1
92090641614. 2
92090641615. 3
92090641616. 4

Question Number : 5 Question Id : 92090610538 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Eco-anxiety can also manifest in individuals without direct experience of climate
change. This happens because of :
(1) their unstable mental health condition
(2)  they watch excessively negative media messages
(3)  they are fully aware of the potential existential treat it presents

(4) they are poor communicators and do not share their fears with health
professionals

Options :

92090641617. 1
92090641618. 2
92090641619. 3
92090641620. 4

Sub-Section Number : 2
Sub-Section Id : 920906345



Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 6 Question Id : 92090610539 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match the blanks in List | with the appropriate phrasal verb in List 11 :

Liat 1 List II

(A) Students usually speak (D) fell-out
French during class by
occasionally English.

(B) The English professor (L) lapse into
wanted t - the
importance of additional
reading to his students

(C) Capital punishment (I1l) done away with
was___ several years ago
in Britain.

Dy 1 with my brother (IV) drive home
over a trifle.

Choose the correct answer from the options given below:

(1) (A)-(I), (B)-(ID), (C)-(D). (D)-(IV)
(2)  (A)-(ID), (B)-(IV), (C)-(I), (D)-(111)
(3) (A1), (B)-(AV), (C)-(11), (D)-(111)
(4)  (A)-(1D), (B)-(IV), (C)-(111), (D)-(D)

Options :

92090641621. 1
92090641622. 2
92090641623. 3
92090641624. 4

Question Number : 6 Question Id : 92090610539 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match the blanks in List | with the appropriate phrasal verb in List 11 :

List [ List II

(A) Students wusually speak (I) fell-out
French during class by
occasionally English.

(B) The English professor (lI) lapse into
wanted to _ the

importance of additional
reading to his students

(C) Capital punishment (IlI) done away with
was___ several years ago
in Britain.

) | with my brother (IV) drive home
over a trifle.

Choose the correct answer from the options given below:

(1) (A)-(111), (B)-(1I), (C)-(I), (D)-(IV)
(Z) (A)-(11). (B)-(IV). (C)-(I), (D)-(111)
(3) (A)-(D), (B)-(IV), (C)-(11), (D)-(111)
(4) (A)-(11), (B)-(1V), (C)-(11I), (D)-(I)

Options :

92090641621. 1
92090641622. 2
92090641623. 3
92090641624. 4

Question Number : 7 Question Id : 92090610540 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The correctly spelt word from the given options is:-

(1) IDEOSYNCRASY (2) IDEOSINCRASY
(3)  IDIOSYNCRASY (4) IDAOOSYNCRASY

Options :

92090641625. 1
92090641626. 2
92090641627. 3
92090641628. 4

Question Number : 7 Question Id : 92090610540 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The correctly spelt word from the given options is:-

(1) IDEOSYNCRASY (2) IDEOSINCRASY
(3) IDIOSYNCRASY (1) IDAOOSYNCRASY

Options :

92090641625. 1
92090641626. 2
92090641627. 3
92090641628. 4

Question Number : 8 Question Id : 92090610541 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with appropriate prepositions from the options given below:

ED had filed the fifth chargesheet _ the case _ May 4 and named Sisodia ___ an
accused _ a case concerning irregularities in the excise policy for the first time.

(1) in, on, as, in (2) in, with, as, in
(3) in, on, with, for (4) in, on, in, as
Options :

92090641629. 1
92090641630. 2
92090641631. 3
92090641632. 4

Question Number : 8 Question Id : 92090610541 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with appropriate prepositions from the options given below:

ED had filed the fifth chargesheet _ the case _ May 4 and named Sisodia __ an
accused _ a ease conecerning irregularities in the excise policy for the first time.
(1) in, on, as, in (2) in, with, as, in

(3 in, on, with, for {(4) in, on, in, as

Options :

92090641629. 1
92090641630. 2
92090641631. 3
92090641632 4



Question Number : 9 Question Id : 92090610542 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An admirably stylish manner of doing things effortlessly:

(1) Pariah (2) Panache
(3) Perjury (4) Petrology
Options :

92090641633. 1
92090641634. 2
92090641635. 3
92090641636. 4

Question Number : 9 Question Id : 92090610542 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
An admirably stylish manner of doing things effortlessly:

(1) Pariah (2) Panache
(3) Perjury (4) Petrology

Options :

92090641633. 1
92090641634. 2
92090641635. 3
92090641636. 4

Question Number : 10 Question Id : 92090610543 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Synonym of the word "TRAIT is ;

(1) Symbol (2) Characteristic
(3) Colour (4)  Habit

Options :

92090641637. 1
92090641638. 2
92090641639. 3
92090641640. 4



Question Number : 10 Question Id : 92090610543 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Svnonym of the word "TEAIT is :

(1) Symbol (2) Characteristic
(3 Colour (4) Habit
Options :

92090641637. 1
92090641638. 2
92090641639. 3
92090641640. 4

Question Number : 11 Question Id : 92090610544 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If cos B =l_ﬂ . then find the value of cot 8:

b
|

(1)

=
]
e

-

(]
Lh
(S8

]

(3) (4)

|
Lh | an

Options :

92090641641. 1
92090641642. 2
92090641643. 3
92090641644. 4

Question Number : 11 Question Id : 92090610544 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If cos B =l_ﬂ . then find the value of cot 8:

b
|

(1)

=
]
e

-

(]
Lh
(S8

]

(3) (4)

|
Lh | an

Options :
92090641641. 1



92090641642. 2
92090641643. 3
92090641644. 4

Question Number : 12 Question Id : 92090610545 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A journey takes 35 minutes while moving with a speed of 32 km/h. How long would
the journey take (in minutes) moving at a speed of 40 km/h?

(1) 28 (2) 24
(3 30 (4) 33
Options :

92090641645. 1
92090641646. 2
92090641647. 3
92090641648. 4

Question Number : 12 Question Id : 92090610545 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A journey takes 35 minutes while moving with a speed of 32 km/h. How long would
the journey take (in minutes) moving at a speed of 40 km/h?

(1) 28 2y 24
(3) 30 (4) 33
Options :

92090641645. 1
92090641646. 2
92090641647. 3
92090641648. 4

Question Number : 13 Question Id : 92090610546 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ananva bought a shirt marked for ¥ 1,000 and paid ¥ 714 after availing two
successive discounts of 15% and x%. Find the value of x.

(1) 12.5 (2) 15
(3) 16 {4y 20
Options :

92090641649. 1



92090641650. 2
92090641651. 3
92090641652. 4

Question Number : 13 Question Id : 92090610546 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Ananya bought a shirt marked for ¥ 1,000 and paid ¥ 714 after availing two
successive discounts of 15% and x%. Find the value of x.
(1) 12.5 2) 15
(3) 16 (4) 20

Options :

92090641649. 1
92090641650. 2
92090641651. 3
92090641652. 4

Question Number : 14 Question Id : 92090610547 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A cone of height at 24 em and base radius 6 em is made of modelling clav. A child
reshapes it in the form of a sphere. The radius of the sphere is:
(1) 1 em (2) 2cm
() 6 cm {(4) Bcm

Options :

92090641653. 1
92090641654. 2
92090641655. 3
92090641656. 4

Question Number : 14 Question Id : 92090610547 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A cone of height at 24 em and base radius 6 em is made of modelling clav. A child
reshapes it in the form of a sphere. The radius of the sphere is:

(1) 1em (2) 2em
(3) 6 cm (4) SBem

Options :



92090641653. 1
92090641654. 2
92090641655. 3
92090641656. 4

Question Number : 15 Question Id : 92090610548 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A sum of ¥ 7,700 is lent on simple interest in two parts in such a way that the interest
on the first part at 20% p.a. for 5 years is equal to the interest on the other part at 9%
p.a. for 6 years. Find the smaller part of the sums lent in two parts.

(1) < 2,400 {2y 5,000
(3) 5300 (4) 2,700

Options :

92090641657. 1
92090641658. 2
92090641659. 3
92090641660. 4

Question Number : 15 Question Id : 92090610548 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A sum of ¥ 7,700 is lent on simple interest in two parts in such a way that the interest
on the first part at 20% p.a. for 5 years is equal to the interest on the other part at 9%
p.a. for 6 years. Find the smaller part of the sums lent in two parts.

(1) < 2,400 {2y 5,000
(3) 5300 (4) 2,700

Options :

92090641657. 1
92090641658. 2
92090641659. 3
92090641660. 4

Question Number : 16 Question Id : 92090610549 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which interchange of signs in the equation which when made will make the equation
correct.

20+20+20—-20x 20 =20

(1) + and + (2} +and-—
(3) +andx (4) = and+
Options :

92090641661. 1
92090641662. 2
92090641663. 3
92090641664. 4

Question Number : 16 Question Id : 92090610549 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which interchange of signs in the equation which when made will make the equation
correct.

20420+ 20 - 20 x 20=20

(1) + and + (2) + and-
(3 + and x {4) » and =+
Options :

92090641661. 1
92090641662. 2
92090641663. 3
92090641664. 4

Question Number : 17 Question Id : 92090610550 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which value can come at place of ?, which will give same relationship on the left and
right side of :: ?

5369 : 4258 :: 9875 7

(1) 5763 (Z) 8764
(3) 7764 (4) 7763
Options :

92090641665. 1
92090641666. 2
92090641667. 3
92090641668. 4



Question Number : 17 Question Id : 92090610550 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which value can come at place of ?, which will give same relationship on the left and
right side of :: ?

5369 : 4258 :: 9875 : 7
(1) 5763 (2) B764
(3) TT64 (4) 7763
Options :
92090641665. 1
92090641666. 2

92090641667. 3
92090641668. 4

Question Number : 18 Question Id : 92090610551 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Milind said to Monu, “That boy playing is the yvounger of two brothers of the daughter
ol my Father's wile”. How 18 the buy who 18 playving is related to Milind:

(1) Brother (2) Brother-in-law

(3) Son (4) Cousin

Options :

92090641669. 1
92090641670. 2
92090641671. 3
92090641672. 4

Question Number : 18 Question Id : 92090610551 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Milind said to Monu, “That bov playing is the vounger of two brothers of the daughter
ol my father's wife”. How 13 the buy who 18 playing 18 related to Milind:

(1) Brother (2) Brother-in-law
(3) Son (4) Cousin
Options :

92090641669. 1
92090641670. 2



92090641671. 3
92090641672. 4

Question Number : 19 Question Id : 92090610552 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Consider the statement and decide which of the assumption is implicit in the
statement:

Statement : A physics teacher in the class announced to keep a copy of

“Principles of physics” written by Haliday Resnick.

Assumptions:
(I} Ewery student can afford to buy the book.

(II) The book is well-written

(1)  If only assumption I is implicit
(2)  If only assumption I is implicit
(3) If neither I nor 11 is implicit

(4) If both assumption I and 1l are implicit

Options :

92090641673. 1
92090641674. 2
92090641675. 3
92090641676. 4

Question Number : 19 Question Id : 92090610552 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Consider the statement and decide which of the assumption is implicit in the
statement:

Statement : A physics teacher in the class announced to keep a copy of

“Principles of physics” written by Haliday Resnick.

Assumptions:
(I} Ewery student can afford to buy the book.

(II) The book is well-written

(1)  If only assumption I is implicit
(2)  If only assumption Il is implicit
(3 If neither I nor 11 is implicit
(4) If both assumption I and 1l are implicit
Options :
92090641673. 1
92090641674. 2
92090641675. 3
92090641676. 4

Question Number : 20 Question Id : 92090610553 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which conclusion would follow on the basis of given statements:

Statements : (A) All pens are chalks.
(By All chairs are chalks.
Conelusions : (I) Some pens are chairs,

(II) Some chalks are pens.

(1)

If conclusion (D) follows
(2) If conclusion (1) follows
(3) If either conclusion (I) or (II) follows

(4) Both conclusion (1) and (1) follows

Options :

92090641677. 1
92090641678. 2
92090641679. 3



92090641680. 4

Question Number : 20 Question Id : 92090610553 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which conclusion would follow on the basis of given statements:

Statements : (A) All pens are chalks.
(B) All chairs are chalks.

Conclusions : (I) Some pens are chairs.

(IT) Some chalks are pens.

If conclusion (1) follows
(2) If conclusion (11) follows
(3 If either conelusion (1) or (IT) follows

(4) Both coneclusion (1) and (I1) follows

Options :

92090641677 1
92090641678. 2
92090641679. 3
92090641680. 4

Question Number : 21 Question Id : 92090610554 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which feature acts as a watershed between the Indus and Gangetic river basins?

(1) Aravalli Ridge (2) Shivalik Hills
(3) Vindhyan Range (4) Satpura Hills
Options :

92090641681. 1
92090641682. 2
92090641683. 3
92090641684. 4

Question Number : 21 Question Id : 92090610554 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which feature acts as a watershed between the Indus and Gangetic river basins?

(1) Aravalli Ridge (2) Shivalik Hills
(3)  Vindhyan Range (4) Satpura Hills

Options :

92090641681. 1
92090641682. 2
92090641683. 3
92090641684. 4

Question Number : 22 Question Id : 92090610555 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List I1 :

List 1 List 11
(Name of committee) (Various sector of India
Economy)
(A) Bimal Jalan Committee (I) Corporate Governance

(B) Birla Committee (I) Improving national
highways in India

(”y S R Harhim Committee (111} Urban poverty

(DY Chaturvedi (IV) Market infrastructure
Instruments

Choose the correct answer from the options given below:

(1) (A)-(1D), (B)-(I1I), (C)-(IV), (D)-(I)
(2) (A)-(I), (B)-(IV), (C)-(111), (D)-(11)
(3) (A)-(IV), (B)-(I), (C)-(111), (D)-(11)
(4) (A)-(1V), (B)-(I), (C)-(1I), (D)-(111)

Options :

92090641685. 1
92090641686. 2
92090641687. 3
92090641688. 4

Question Number : 22 Question Id : 92090610555 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List 11 :

List 1 List 11
(Name of committes) {(Various sector of India
Economy)
(A) Bimal Jalan Committee (I} Corporate Governance

(By Birla Committee (II) Improving national
highways in India

(Cy SR Harhim Committee (111} Urban poverty

(DY Chaturvedi (IV) Market infrastructure
Instruments

Choose the correct answer from the options given below:

(1) (A)-(11), (B)-(11D), (C)-(IV), (D)-(L)
(2) (A)-(L), (B)-(IV), (C)-(111), (D)-(11)
(3) (A)-(IV), (B)-(), (C)-(111), (D)-(11)
(4) (A)-(1V), (B)-(L), (C)-(11), (D)-(11L)

Options :

92090641685. 1
92090641686. 2
92090641687. 3
92090641688. 4

Question Number : 23 Question Id : 92090610556 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘Digi Yatra’ facility has been implemented at in the country.

(1) Railway station (2) Airport
(3) Inter State Bus Terminal(ISBT) (4) Port

Options :

92090641689. 1
92090641690. 2
92090641691. 3
92090641692. 4

Question Number : 23 Question Id : 92090610556 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



‘Digi Yatra’ facility has been implemented at in the country.

(1) Railway station (2) Airport
(3) Inter State Bus Terminal(ISBT} (4) Port

Options :

92090641689. 1
92090641690. 2
92090641691. 3
92090641692. 4

Question Number : 24 Question Id : 92090610557 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fiven below are two statements

Statement [ . Gross Domestic product (GDP) is the final value of the goods and
services produced within the geographical boundaries of a country
during a year.

Statement II  : Net Domestic Product (NDP) equals to the GDP plus depreciation
(value loss of an asset) on country capital goods

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both Statement | and Statement Il are correct
(2) Both Statement | and Statement Il are incorrect
(3) Statement I is correct but Statement 11 is incorrect

(4) Statement [ ig incorrect but Statement Il iz correct

Options :

92090641693. 1
92090641694. 2
92090641695. 3
92090641696. 4

Question Number : 24 Question Id : 92090610557 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement I : Gross Domestic product (GDP) is the final value of the goods and
services produced within the geographical boundaries of a country
during a year.

Statement I  :  Net Domestic Product (NDP) equals to the GDP plus depreciation
(value loss of an asset) on country capital goods

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both Statement | and Statement Il are correct
(2) Both Statement [ and Statement 1l are incorrect
(3) Statement [ is correct but Statement 11 is incorrect

(4) Statement I is incorrect but Statement 1 is correct

Options :

92090641693. 1
92090641694. 2
92090641695. 3
92090641696. 4

Question Number : 25 Question Id : 92090610558 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The ‘GEM’ portal of Government of India deals with

(1) Public Procurement (2) Distance learning

(3 Tele medicine {4) Aadhar based digital signature

Options :

92090641697. 1
92090641698. 2
92090641699. 3
92090641700. 4

Question Number : 25 Question Id : 92090610558 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The ‘GEM’ portal of Government of India deals with

(1) Public Procurement (2) Distance learning
(3) Tele medicine {4) Aadhar based digital signature
Options :

92090641697. 1
92090641698. 2
92090641699. 3
92090641700. 4

Part B: Ancient Indian History

Section Id : 920906210
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906346
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 92090610559 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The capital of early Cholas was at:

(1) Madurai (2) Uraiyur
(3 Tanjore (4) Karuvur
Options :

92090641701. 1
92090641702. 2
92090641703. 3
92090641704. 4



Question Number : 26 Question Id : 92090610559 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RIEHH =il il T o

(1) =gs (2) IEX
(3) R (4) =HEE
Options :

92090641701. 1
92090641702. 2
92090641703. 3
92090641704. 4

Question Number : 27 Question Id : 92090610560 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What does the jaina doctrine of Anekantavada signify?

(1) Doctrine of manifold nature of reality
(2) The diverse existence
(3) Absolute Validity

(4)  Doctrine of entirety and complexity

Options :

92090641705. 1
92090641706. 2
92090641707. 3
92090641708. 4

Question Number : 27 Question Id : 92090610560 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 Tagm 0 seidarg &1 §7

(1) aTEafashar 61 SIS S & Hgm
(2)  fefey dioerh

(3) Ui dgar

(4)  EEaT 9T Steaar w1 fag

Options :



92090641705. 1
92090641706. 2
92090641707. 3
92090641708. 4

Question Number : 28 Question Id : 92090610561 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the Ashokan edicts have widest distribution?

(1) Minor rock edicts {2) Major rock edicts

(3) Pillar edicts (4) Short pillar inscriptions

Options :

92090641709. 1
92090641710. 2
92090641711. 3
92090641712. 4

Question Number : 28 Question Id : 92090610561 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

¥l & fienal 4 | wad s9rg) faa femea 27
(1) oy feremene (2) Wi Frerera
(3 v wiwE (4) @i wY whiere
Options :
92090641709. 1
92090641710. 2

92090641711. 3
92090641712. 4

Question Number : 29 Question Id : 92090610562 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
As per Arthashastra, who was superintendent of markets?

(1) Sansthadhyaksha (2) Shunyanivesha
(3 Gopa (4) Sthanika

Options :



92090641713. 1
92090641714. 2
92090641715. 3
92090641716. 4

Question Number : 29 Question Id : 92090610562 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HUITEA & TGN q=il 1 i S9 917

(1) TEmes (2) ST
(3) ™ (4) TR
Options :

92090641713. 1
92090641714. 2
92090641715. 3
92090641716. 4

Question Number : 30 Question Id : 92090610563 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who was successor of Satvahana king Gautamiputra?

(1) Yajnashri Satakrni {2) Vasisthiputra Pulumayi
(3) Chanda Satakarni (4)  Pulumavi
Options :

92090641717. 1
92090641718. 2
92090641719. 3
92090641720. 4

Question Number : 30 Question Id : 92090610563 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HIAATES ITH TIAHA 1 STTIHET hiF 277
(1) =t ol (2) =wiifE g gegar
(3)  <Ier @TeRvl (4) 9o =

Options :



92090641717. 1
92090641718. 2
92090641719. 3
92090641720. 4

Question Number : 31 Question Id : 92090610564 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The premier Pandya port was at:

(1) Puhar {2y Tondi
(3) Travancore (4) Korkai
Options :

92090641721. 1
92090641722. 2
92090641723. 3
92090641724. 4

Question Number : 31 Question Id : 92090610564 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TIE UTUEY SEUTIE T

(1) 9er (2) =it
(3) TESR (1) HAHE
Options :

92090641721. 1
92090641722. 2
92090641723. 3
92090641724. 4

Question Number : 32 Question Id : 92090610565 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is Paticha-Samuppada as per Buddhist teachings?

(1) Extinction of desire {(2) The connection between atma and nature
(3) The law of dependent origination (4) Connection between different beings
Options :

92090641725. 1



92090641726. 2
92090641727. 3
92090641728. 4

Question Number : 32 Question Id : 92090610565 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
dig farama = HIER qi=at #q=1 (Pattichcha - Samuppada) #1 27
(1) ¥== i FEI
(2) e 3R gHla + T
(3) A 39 #1 fag| (The law of dependent origin)
(1) =t SEl & o= gy

Options :

92090641725. 1
92090641726. 2
92090641727. 3
92090641728. 4

Question Number : 33 Question Id : 92090610566 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The worship of Naga and Nagin is an important aspect of religious worship. These
were associated with:

(1) Ward off disease (2) Child birth
(3) Water and fertility (4) Warding off evil
Options :

92090641729. 1
92090641730. 2
92090641731. 3
92090641732. 4

Question Number : 33 Question Id : 92090610566 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AP 3 AR O aifties O3 1 U mEeu 3ET # | $HE ST 3 9T

(1) =l g wme (2) fm s
(3) Wl U S (4) =TS I T
Options :

92090641729. 1
92090641730. 2
92090641731. 3
92090641732. 4

Question Number : 34 Question Id : 92090610567 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Coins made of metal appear first in the:

(1) Later Vedic age (2) Age of Buddha
(3) Mauryan era (4) Shung era
Options :

92090641733. 1
92090641734. 2
92090641735. 3
92090641736. 4

Question Number : 34 Question Id : 92090610567 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 ¥ a4 e F999y 3§ 909 3

(1) I dfesw (2) 9g FA
(3) HiE 1A (4) I FE
Options :

92090641733. 1
92090641734. 2
92090641735. 3
92090641736. 4

Question Number : 35 Question Id : 92090610568 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Arrange the following in chronological order:

(A) Chaityas and monasteries began to be built in north-west Deccan.
(B) Vihara at Nasik with inscription of Nahapana.

() The earliest Satvahana inscription.

(1 Reconstruction of Amaravati stupa.

(E)y  Iron working in megalithic phase.

Choose the correct answer from the options given below :

(1) E. A C.Band D
)| D.B,A Cand E
3) B.D.A Cand E
(4) ABD EandC

2

e

Options :

92090641737. 1
92090641738. 2
92090641739. 3
92090641740. 4

Question Number : 35 Question Id : 92090610568 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
f=fefiga =1 FweseaEn et Sifsu;

(A) I 9fv=di g9 § = 991 92 (monastries) & TR T
(B) F&9H & Ffiera % mry Tifes 1 faEn

(C) WT=EHTH Fiaas Atvog

(D) SR & B G

(E) HEMNEm I 1§ @ig

frfefEa fawem @ & 96 330 =1 =597 $ifaw -

(1) (E), (A), (C), (B) 7= (D) (2) (D), B), (A), (C) 7 (E)
@) (B), D), (A), (C) T (E) (4) (A), (B), (D), (E)7ur (C)
Options :

92090641737. 1



92090641738. 2
92090641739. 3
92090641740. 4

Question Number : 36 Question Id : 92090610569 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The spread of jainism in Karnataka is attributed to:

(1) Siddhartha (2) Trishala
(3) Chandragupta Maurya (4) Parshvanatha
Options :

92090641741. 1
92090641742. 2
92090641743. 3
92090641744. 4

Question Number : 36 Question Id : 92090610569 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FA1eh H 9 99 F1 IR 2 T

(1) Tagd () frmen
(3) =ZTa O (4) 9TFEETg
Options :

92090641741. 1
92090641742. 2
92090641743. 3
92090641744. 4

Question Number : 37 Question Id : 92090610570 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In Vedic Age, a gestation rite was called:

(1) Jaya (2) Pumsavana
(3) Samskara (4) Yosha
Options :

92090641745. 1



92090641746. 2
92090641747. 3
92090641748. 4

Question Number : 37 Question Id : 92090610570 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
afew 71 3 THigE HERR H1 HE S o
1 = (2) g
(3) @R (4) =mm

Options :

92090641745. 1
92090641746. 2
92090641747. 3
92090641748. 4

Question Number : 38 Question Id : 92090610571 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | :  The Kalpavrksa was major motif in literature and art.

Statement 11 : It was believed that it was surrounded by seven Treasures.
In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement [ and Statement II are true.

(2) Both Statement | and Statement 1l are false.

(3 Statement [ is true but Statement 11 is false.

(4) Statement [ is false but Statement 11 is true.
Options :

92090641749. 1
92090641750. 2
92090641751. 3
92090641752. 4



Question Number : 38 Question Id : 92090610571 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e €1 e few o -

F94 (D) 1 FHo998, Hifard aUT Hell H Ush T4 T4 911

FUA (1) : THT 91 911 o T 9% 90 @91 9 fag gan o1

I HYA & e °, Ffoiaa fawedl § § ga8 999 9L F 994 S
(1) 9 () 7 2 (1) <H1 &6 & |

(2)  F (1) 7w w49 (1) 91 T 8 |

3) % (1) @l 2, wiferd F2 (1) 7ord 2|

(4)  FA (D) 7era &, ot wea (1) =&t 2 |

Options :

92090641749. 1
92090641750. 2
92090641751. 3
92090641752. 4

Question Number : 39 Question Id : 92090610572 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements :

Statement 1 :  Mamallapuram is a remarkable group of buildings that comprises

monolithic temple.

Statement 11 :  The famous Maheshamurti is located in Ellora.
In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement | and Statement 11 are true
(2) Both Statement | and Statement 11 are false
(3) Statement 1 is true but Statement 1l is false

(4) Statement 1 iz false but Statement 11 is true



Options :

92090641753. 1
92090641754. 2
92090641755. 3
92090641756. 4

Question Number : 39 Question Id : 92090610572 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A< g1 % ey M E -

HUE () : AN, HaH1 &1 U 9iE 998 2 590 Wens (monolithic) TiEt £ |
o (1) : uftg wevmfd vera o e 2|

ITIE HUH F A °, Fefafaa f9weal § § 998 999 391 1 957 S
(1) A (D) @ 52 (1) <Hl &8 2 |

(2)  F5= (D) 7w T4 (1) A 769 2 |

(3) A () wEl 8, ifehT wY= (1) Terd 2 |

(4) A (1) oA B, wifeRT wya (1) 98 2 |

Options :

92090641753. 1
92090641754. 2
92090641755. 3
92090641756. 4

Question Number : 40 Question Id : 92090610573 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who uses the fossil evidence to understand the biological and cultural evolution of early
humans?

(1) Historian {2) Archeoclogist
(3) Paleo-anthropologists (4) Paleo-geographer
Options :

92090641757. 1
92090641758. 2
92090641759. 3
92090641760. 4



Question Number : 40 Question Id : 92090610573 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
WRITS AHE1 & S99l au1 Sikhias fasm ® gage & fod feaq s g &
EXRIUNCE

(1) sfaeEmEsr (2) YUawEE
(3) 0 gHESET (4) T et S
Options :

92090641757. 1
92090641758. 2
92090641759. 3
92090641760. 4

Question Number : 41 Question Id : 92090610574 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement [ ¢ The silk routes in Central Asia carried Indias’s culture as far as
Khotan.
Statement [  : It happened especially during the era of the Kushan empire.

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both Statement I and Statement I are true.
(2) Both Statement I and Statement Il are false.
(3) Statement [ is true but Statement II is false.

(4) Statement [ is false but Statement Il is true.

Options :

92090641761. 1
92090641762. 2
92090641763. 3



92090641764. 4

Question Number : 41 Question Id : 92090610574 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= g1 wye fgg o E -

FeH (1) . AT UEET 1 3979 50 9HA 6 T3 S @hE a6 o 749
%A (II) : TE9q: F HEST & FHid T TH 57 |

ITE HYF & JAs 8, Fefafay fawen 7 & 98 39 %1 =999 $ifaw
(1) FE (1) 7 w2 (1) i & # |

(2) w9 () 791 %24 (I1) SF1 o9 8 |

(3)  wA (I) =1 2, S &y (1) Toid 7 |

(4)  FH (1) ToTa &, sk wYF (1) T8 2|

Options :

92090641761. 1
92090641762. 2
92090641763. 3
92090641764. 4

Question Number : 42 Question Id : 92090610575 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(GGiven below are two statements : One of the labelled as Asssestion (A) and the other

is labelled a Reason (R)

Assertion (A) : The engraved ivory plaques from Begram belong to the Mathura
aesthetic.
Reason (R) :  Begram was the summer capital of Kushan empire.

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both A and R are true and R 15 the correct explanation of A.
(2) Both A and R are true but R is the not correct explanation of A.
(3) A 1is true but R is false.

(4) A is false but R is true.

Options :

92090641765. 1
92090641766. 2
92090641767. 3
92090641768. 4

Question Number : 42 Question Id : 92090610575 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



H= & %9F feu U £ : v wfieAEa (Assertion A) % ®9 ¥ Taifigd g a1 g 39 HAW
(Reason R) % #9 H :

Assertion (A) : 9UTH ¥ 9w Ichivl rfigfd et TYU Hiedaly ¥ HrEAY TEai 2 |

Reason $ (R) : &9 HuIVI ! HIsHahlei= T=1am1 o ||
STE H2H1 & we § A feu 7y fomedi § 8 |8 3ut F1 991 St

() (A) @91 (R) &1 §€I & 991 (R), (A) %l H&l =7 2 |
(2)  (A) @91 (R) a1 H&l & T (R), (A) =l &l =amen 781 2 |
(3)  (A) & 2 =il (R) 9E 8 & |

(1) (&) @l € & i (R) T 2
Options :
92090641765. 1
92090641766. 2
92090641767 3
92090641768. 4

Question Number : 43 Question Id : 92090610576 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Identify the correct statements:

(A) A striking representation of Kalpavrksa comes from Nachna.

(B) The Buddhist Jatakas don't describe wish-fulfilling tree.

(8] The Kalpavrksa was a major motif in literature and art.

(D The most magnificent representation of Kalpavrksha is from Beshnagar.
(E)  The Bodhgaya shows the Kalpavrksa.

ety

Choose the correet answer from the options given bhelow :

(1) A. B and C only
(2) A, D and E only
(3) A Cand E only
(4) A CandD only
Options :
92090641769. 1
92090641770. 2



92090641771. 3
92090641772. 4

Question Number : 43 Question Id : 92090610576 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HEl FYAI I B HIfA:

(A) HeIIH I TH FTEAIAH (G0 T=A H W w8 |
(B) #ig Saehi § g=@1 YU & aTel J&i i avid T8 8 |
(C) wfE 991 Hell H, Hedge U @ 919 ¢ |

(D) FoIgE F TaH AHGR =70 a8 & e 2 |

() w19 Foage i fe@m 2 |

e fed T fawedi § @ wd 3w g

(1) = (A), (B) 997 (C) (2) Faa (A), (D) T97 (E)
(3) hae (A), (C) 741 (E) (4) A= (A), (C) 791 (D)
Options :

92090641769. 1
92090641770. 2
92090641771. 3
92090641772. 4

Question Number : 44 Question Id : 92090610577 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The first discovery of ostrich egg shell in India was at:

(1) Ken river in Banda district (Uttar Pradesh).

2 Patne in Maharashtra.

— =

)
3 Chandresal in Rajasthan.
)

(4 Ramnagar in Madhyva Pradesh.

Options :

92090641773. 1
92090641774. 2
92090641775. 3
92090641776. 4



Question Number : 44 Question Id : 92090610577 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qRd | I & S BT @il 999 Jgel F8i e

(1) =ie e (I wew) 8 &4 44 (2) Wied, HENTE |
(3) F2Ee, TIH | (4) THFR TSy H

Options :

92090641773. 1
92090641774. 2
92090641775. 3
92090641776. 4

Question Number : 45 Question Id : 92090610578 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List 11 :

List 1 List I1
(A) Suvarnadvipa () Pegu
(B) Suvarnabhumi (II) Kamboja
(Cy A centre of Sanskrit (1) Java
learning

(D) Greatest Buddhist temple (IV) Borobudur

Choose the correct answer from the options given below:

(1) (A)-(1L), (B)-(1LI), (C)-(IV), (D)-(I)
(2) (A)-(D), (B)-(11D), (C)-(1D), (D)-(IV)
(3) (A)-(I11), (B)-(11), (C)-(IV), (D)-(I)
(4) (AL, (B)-(D), (C)-(1D), (D)-(IV)

Options :

92090641777. 1
92090641778. 2
92090641779. 3
92090641780. 4

Question Number : 45 Question Id : 92090610578 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
=t 11 =t 115 919 e Fifau |

o=l 1 il
(A) HavigH @ T
(B) gvrqH D) s
(C) H&Fd TH H1 T 53 () ST
(D) HEMAH sig A=< (IV) =gt
fau o faedt # & T I H 99 HNC

(1) (A)-(IL), (B)-(IID), (C)-(IV), (D)-(IT)
(2) (-0, (B)-(I1T), (C)-(11). (D)-(IV)
(3)  (A)-(ID, (B)-(ID), (C)-(IV), (D)-(I)
(4)  (A)-ID, (B)-(I), (C)-(IT), (D)-(IV)

Options :

92090641777. 1
92090641778. 2
92090641779. 3
92090641780. 4

Question Number : 46 Question Id : 92090610579 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

India’s cultural interaction with South-East Asia helped Indians to learn the art of growing
betel leaves from:

(1) Indonesia {2y China
(3 Burma (4) Champa
Options :

92090641781. 1
92090641782. 2
92090641783. 3
92090641784. 4

Question Number : 46 Question Id : 92090610579 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g O ufeEn % |y Gisfoe ofa: R § wRdEl # 9F ® 9m ITe HJed 5
mﬁﬁﬁ:

(1) SSHfmEnH (2 J=4
(3 ==iE (4) =omH
Options :

92090641781. 1
92090641782. 2
92090641783. 3
92090641784. 4

Question Number : 47 Question Id : 92090610580 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements : One is labelled as Assertion (A) and the other is

labelled as Reason (R):

Assertion (A) : The powerful kingdom of Kamboja (Cambodia) was founded in 6th

century and developed into a centre of Sanskrit learning.

Reasons (R) : Its rulers were devotees of Shiva and the traders set up colonies.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct but (R) 15 NOT the correct explanation of (A).
(3) (A) is correct but (R) is not correct.

(4) (A) is not correct but (R) is correct.

Options :

92090641785. 1
92090641786. 2
92090641787. 3
92090641788. 4

Question Number : 47 Question Id : 92090610580 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Fr= g Fud for u € - v sifysafda (Assertion A) % w9 ¥ foifiga 2 91 gE0 38 HROT
(Reason R) & &9 4 :

Assertion (A) : FE (FrETeaT) % AlFaened T=9 6 LU0 D8t T 5= § g8 997 T8
HEHd T & &5 $ &9 4 (Gepiad gt |

Reason (R): 5% W& 919 & Waa 9 aen samnial 5 93l (Colonies) 56718 |
ITARR HIHT o T § = feu T fashedi § § qaiiash 3Ugad 3oL ol 997 il

(1) (A) @ (R) 5Hi @&t € 721 (R), (A) 1 @l =amem 2 |

(2)  (A) @ (R) gHi |E1 € At (R), (A) =i =& =amem 746 2|
(3)  (A)@El 2 \FFT (R) 581 71 8 |

(4  (A) =& & 2 &f (R) 781 2

Options :

92090641785. 1
92090641786. 2
92090641787. 3
92090641788. 4

Question Number : 48 Question Id : 92090610581 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following in chronological order:

(A) Brahu speakers came to India.

(B)  Austric people came to India.

(C)  Oral legends and traditions of Munda recorded.
(D) Dravidians come to India.

(E) Start of the middle Indo-Arvan.

Choose the correct answer from the options given below :

(1) A, CD,EandB.
(2) A,D,E BandC.
(3) B.EA DandC.
(4) BDAEandC.
Options :
92090641789. 1
92090641790. 2



92090641791. 3
92090641792. 4

Question Number : 48 Question Id : 92090610581 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Tr=ferfiaa =+ Fesraan Safeya Fifau;

(A) wTEdl |ieH del YA 3

(B) AT (Austric) & 9RA A

(C) Ha1 i Hiflgs - Ul 991 WeRT fod T
(D) zfEE rd I

(E) T =2 349 &1 9y

fafafigs fawem @ 9 w6 3 =1 =77 Fifsw -

(1) (A), (C), (D), (E)aa (B) (2) (A), (D), (E), (B) T (C)
(3) (B), (E), (A), (D)7 (C) (4) (B), (D), (A), (E) 74 (C)
Options :

92090641789. 1
92090641790. 2
92090641791. 3
92090641792. 4

Question Number : 49 Question Id : 92090610582 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following in correct chronological order:

(A)
(B)
(C)
(D)
(E)

Gold coins of Vima Kadphises.
The earlist coins of Nepal.

Copper coins of Kujula Kadphises.
Kanishka’'s copper coinage.

Lakshmi sits upon a lotus instead of a throne depicted on a Gupta gold coin.

Choose the correct answer from the options given below :

(1) A C,D, EandB.

(2) A B E DandC.

(3) B,C,D,EandA.

(4) C.,B.A DandE.
Options :

92090641793. 1
92090641794. 2
92090641795. 3
92090641796. 4

Question Number : 49 Question Id : 92090610582 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frefefas =t 5 s srafen St

(A)
(B)
(C)
(D)

(E)

fem wefefom % a9 & fows

T &y faes

T wefklan & 7@ F fess

Fieh & A & fan

T T |4 % fawk o weh, faeles B e oo s ow & #

frefafian fasmed 8 & wd o =1 =25 Hifse .

()
(3)

(A), (C), (D), (E) 3am (B) 2y (A, (B), (E), (D) Tt (C)
(B), (C), (I, (E) 741 (A) {4y (C), (B), (&), (D) 7 (E)

Options :

92090641793. 1
92090641794. 2
92090641795. 3
92090641796. 4



Question Number : 50 Question Id : 92090610583 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who among the following used the title of Vikramaditva for the first time ?

(1) Chandragupta 1 (2) Ujjain ruler called Shakari
(3) Samudragupta (4) Chandragupta IlI
Options :

92090641797. 1
92090641798. 2
92090641799. 3
92090641800. 4

Question Number : 50 Question Id : 92090610583 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frforiiga 9 & free wawem faswarfe i 3oty 780 Hi?

(1) ==TE -1 (2) YRRl FHEAH AT Isai BT THD
(3) 9T (4) <z - I
Options :

92090641797. 1
92090641798. 2
92090641799. 3
92090641800. 4

Question Number : 51 Question Id : 92090610584 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following in correct chronological order:

(A)
(B)

(©)
(D)
(E)

The first inscriptional evidence of Sati.

A Gupta inscription from Allahabad district suggests the knowledge of the
decimal system.

The iron-pillar was set up at Mehrauli in Delhi.
Emergence of Bhagvatism or the Krishna cult.
Period of the Ajanta paintings.

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

D,EC, B A
B €, D, B, A,
B,A CDE.
C,D,A B E.

Options :

92090641801. 1
92090641802. 2
92090641803. 3
92090641804. 4

Question Number : 51 Question Id : 92090610584 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fefefaa &1 98 FeRaEn. Fafyq Fifau;

(A)
(B)
(©)
(D)
(E)

Hell 1 Tge ATHe@TEHS JH|

TolTgTaTg foel ¥ Wi e T Ao 91 SYHed SIaedT & 9 o |l H s g |
femett 4, wedielt § i Tr w=nfi |

HITEdaTE I1 F1 99 FHI 367 |

= == =1 Fe |

ffafEa fawem 0 & 96 a0 =1 =97 $ifaw -

(1)
(3

(D), (E), (C), (B), (A) (2) (E), (C), (D), (B), (A)
(B). (A), (C), (D), (E) (4) (C). (D), (A). (B), (E)

Options :
92090641801. 1
92090641802. 2



92090641803. 3
92090641804. 4

Question Number : 52 Question Id : 92090610585 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reason (R):

Assertion (A) : Kanishka was the most famous Kushana ruler.

Reasons (R) : He started an era in AD 178 which iz now known as the Shaka era.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3 {A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Options :

92090641805. 1
92090641806. 2
92090641807. 3
92090641808. 4

Question Number : 52 Question Id : 92090610585 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



H= & %9 feu U § : v wfysafEa (Assertion A) % 9 ¥ foifigd g a1 ga 39 &AW
{ReamnR)%Eﬂlﬁ:

Assertion (A) : HI5h Had FiHg FIT TS A7 |

Reason (R): 36 84 178 3. § U% Had =l YEAE i {8 3714 ¥ dad & 90 & =1
EiGIES

I HYAT o T H A= fou 7 fommedl 1 9 gaifush 39 I 1 954 i -

(1) (A) 7w (R) 31 @81 € 991 (R), (A) i w8 =me 2 |

(2)  (A) @ (R) THi @@l & wifea (R), (A) =i @8l =g e 2 |
(3) (A) =l B =l (R) =E 6 21

(4)  (A) wél 78 2 =it (R) 7l 21

Options :

92090641805. 1
92090641806. 2
92090641807. 3
92090641808. 4

Question Number : 53 Question Id : 92090610586 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct statements:

(A) By Tt century, the centralized system was replaced by feudal administrative system.
(B)  The land grants paved way for feudal development in India.

(C)  No inseription refers to emergence of serfdom from 5" century onwards.

(D)  1-'Tsing states that most Indian monastaries possessed land.

(E) Hiuen-Tsang described the shudras as agriculturists.

Choose the correct answer from the options given below :

(1) A, B and C only
(2} A, B and E only
{3) B, D and E only
(4) C, D and E only

Options :
92090641809. 1
92090641810. 2



92090641811. 3
92090641812. 4

Question Number : 53 Question Id : 92090610586 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
el HHT HI TEAE BT

(A) 79 FIaTeE! O A1 SEES AR 7 e ha SHaey] i TE o o |

(B) Y 3l 4 WA H "t T %1 9r werd e |

(C) =1E ofi sfuera 5eff waedt § W ghaE (serfdom) % 3¢9 & R H T8 aarar |
(D) = (1-Tsing) 1 %11 & T stfiar widtg wai & | s ot |

(E) &7 907 31 1 Seiall & 9 5 Jui T 2 |

Fra feit 7 fasedt § & waifus Sugaa 39 90|

(1) ==« (A), (B)a=n (C) (2) Faa (A), (B) 7u1 (E)
(3) 3= (B), (D) 721 (E) (4) e (C), (D) a1 (E)
Options :

92090641809. 1
92090641810. 2
92090641811. 3
92090641812. 4

Question Number : 54 Question Id : 92090610587 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement [ :  State polities and societies emerged in the 6tk / 5t century B.C. in
a belt streatching from Gandhara in the north west to Anga in

eastern India, also extending into the Malwa region.

Statement I : The inclusion of Asska (Ashmaka) in the upper Godavari valley in
lists of the great states of the time suggests that similar process

was underway in parts of trans Vidhyan India as well.

In the Light of the above statements, choose the correct answer from the options given

below -

(1) Both Statement [ and Statement Il are correct.
(2) Both Statement I and Statement Il are incorrect.
(3) Statement 1 is correct but Statement 11 is incorrect.

(4) Statement 1 is incorrect but Statement I1 is correct.

Options :

92090641813. 1
92090641814. 2
92090641815. 3
92090641816. 4

Question Number : 54 Question Id : 92090610587 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



d= g Hu feg mu E -

FYA (1) : T 97 997 §619 6/5 of 91§91 @ § U U@ § 3W, 1 Ien-9iv=n § 79N
H, gd T 307 7% 3R oeran &9 °§ St off |

FH (1) :39 999 & TeF Ul & gl 0, FI0 TeEd 9@ mE (39EE) &
aforfera &9 =1 37 o T yra & faveg o = 9 o ot smm wfw =a W@ ot

I FUF F s 4, Fefafas fawea 9 9 98 393 =1 999 $ifay

() = (1) @ s (I0) 21 & 2 |

(2) w9 () 791 %= (11) A1 Tod & |

(3) wH¥A (1) =ét 2, aifepa &9 (1) 7o 2 |

(4)  wUF (1) Tl 7, i Fe (1) TE 2

Options :

92090641813. 1
92090641814. 2
92090641815. 3
92090641816. 4

Question Number : 55 Question Id : 92090610588 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hypothessis, known as the short chronology, which assert that 100 years elapsed between the
parinibbana (Budha's death) and Ashoka’s consecration is based on:

(1) Sanskrit and Chinese sources (2) Dipavamsa and Mahavamsa
(3) Theravada Communities (4) Rock Edict X111
Options :

92090641817. 1
92090641818. 2
92090641819. 3
92090641820. 4

Question Number : 55 Question Id : 92090610588 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



98 Wik Fedl (Hypothesis) 7% @9 @8 (Short Chronology) % 9 § FHT1 9141 #,
aFdl 8 o aitEi (9 %1 geg) a91 319 % USaue o 8" 100 9 @ S0 o |
I8 39 W AN &:

(1) ©5hd au1 =+ 5@ (2) dyEw YT HEE
(3) guEe F9EE (4) Trem wfieg XIII
Options :

92090641817. 1
92090641818. 2
92090641819. 3
92090641820. 4

Question Number : 56 Question Id : 92090610589 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I :  The bodhisattva Avlokiteshvara was considered the epitome of
compassion,

Statement I1 : He is supposed to have refused to take the final step into
Buddhahood because he wanted to help all beings to attain this
state.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement [ and Statement I are true.
(2) Both Statement [ and Statement II are false.
(3) Statement [ is true but Statement I 1s false.

(4) Statement I is false but Statement Il is true.

Options :

92090641821. 1
92090641822. 2
92090641823. 3
92090641824. 4

Question Number : 56 Question Id : 92090610589 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

TR fer e
FoH (I): ®@ifa @ ASelfhdyal I HEM H1 G0 (epitome of compossion) HHI
RLE N

%Y (1) : == =11 2 7 32 987 (Buddhahood) § 31091 #1f<1 &en o & 61
1 fom =it ar oft wived =+t 98 @9m W W 0 H@EEar H
=TEd 4 |

IR FYE1 & T °, Fefafad fasen 0 @ w98 33 &1 == Hifag

(1) 5 (D) 71 % (1) T 7 2 |

(2)  w¥= () 71 %29 (11) EH1 7Terd &

(3) A (1) 9é 7, @fha &2 (11) Tera 2|

(4) =¥ (1) TeTa &, wifeh sy (1) T8 2 |

Options :

92090641821. 1

92090641822. 2

92090641823. 3
92090641824. 4

Question Number : 57 Question Id : 92090610590 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to Kautilya’s Arthashastra, what is true?

(1) Artha is superior to dharma. (2)  Artha is inferior to dharma.
(3) Kama is superior to artha. (4) Artha is a means to salvation.
Options :

92090641825. 1
92090641826. 2
92090641827. 3
92090641828. 4

Question Number : 57 Question Id : 92090610590 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Hifced o AT & AJER F= 8l 87

(1) fud@gmse (2) 314 vH & FiE 2
(3) FHATHIBE (4) 1% gfeq &1 vk A6 B
Options :

92090641825. 1
92090641826. 2
92090641827. 3
92090641828. 4

Question Number : 58 Question Id : 92090610591 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The philosophical basis of the pantheon of Budhas and bodhisattvas, that became
objects of popular worship was the Mahayana doctrine of the:

(1) Tri-Kaya (three bodies) (2) Chatur Kaya (four bodies)
(3) Shasta Kaya (six bodies) (4) Sapta Kayva (seven bodies)
Options :

92090641829. 1
92090641830. 2
92090641831. 3
92090641832. 4

Question Number : 58 Question Id : 92090610591 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gl Ul S % 9N FH gEiHE YR, A AL ITEAT 1 AT 511, TEEH 6
fagr o1

(1) s (2) =d-wm

(3) HR-HEN (4) HH-HET

Options :

92090641829. 1
92090641830. 2
92090641831. 3
92090641832. 4



Question Number : 59 Question Id : 92090610592 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who among the following was not a Madhyamaka scholar?

(1) Buddhapalita (2) Asanga
(3) Bhavaviveka (4) Chandra Kirti
Options :

92090641833. 1
92090641834. 2
92090641835. 3
92090641836. 4

Question Number : 59 Question Id : 92090610592 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frfeafan 4 & = v mrems fagm = @

(1)  ggTred (2) 3w
(3)  wafeds (4) ddld
Options :

92090641833. 1
92090641834. 2
92090641835. 3
92090641836. 4

Question Number : 60 Question Id : 92090610593 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who translated the paly Abhijnanshakuntalam into English?

(1) Max Muller {2y Sir William Jones
(3) V.A. Smith (4) James Mill
Options :

92090641837. 1
92090641838. 2
92090641839. 3
92090641840. 4



Question Number : 60 Question Id : 92090610593 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ST Ae A1esh 1 3 T 37amg e fran?

(1) T IR (2) = fafeam w4
(3 tu fay (4) S o=
Options :

92090641837. 1
92090641838. 2
92090641839. 3
92090641840. 4

Question Number : 61 Question Id : 92090610594 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Whose basic thesis regarding the practice of republican experiment is widely accepted?

(1) K.P. Jayaswal (2) A.L. Basham
(3) AS. Altekar (4) U.N. Ghoshal
Options :

92090641841. 1
92090641842. 2
92090641843. 3
92090641844. 4

Question Number : 61 Question Id : 92090610594 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T WA 9 % w5y o feah snumyn o w6 g el 2y

() &6, SraEas (2) uuE.Em
(M U.UH. Heded (4) F.UA. =ETA
Options :

92090641841. 1
92090641842. 2
92090641843. 3
92090641844. 4



Question Number : 62 Question Id : 92090610595 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who authored the book titled ‘History of the Dharmasustras™

(1) Sir William Jones (2)  V.A. Smith
(3) R.GG. Bhandarkar (4) P.V. Kane
Options :

92090641845. 1
92090641846. 2
92090641847. 3
92090641848. 4

Question Number : 62 Question Id : 92090610595 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
&=l AT g SHYITETS A [ hed o 7

(1) fafeam 3= (2) =i, fo
(3) W IERFR (4) drdf e
Options :

92090641845. 1
92090641846. 2
92090641847. 3
92090641848. 4

Question Number : 63 Question Id : 92090610596 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List 11 :

List I List I1
(A) Aryabhata () Brihatsamhita
(BY Warahamihira (IIY Charakasamhita
(C) Sushruta (I1I) Aryabhatiya
(D) Charaka (IV) Sushrutazamhita

Choose the correct answer from the options given below:

(1) (A)-(I1D), (B)-(1), (C)-(IV). (D)-(I1)
(2) (A)-(II), (B)-(IL1), (C)-(1), (D)-(IV)
(3) (A)-(I11), (B)-(I), (C)-(1D), (D)-(IV)
(4) (A)-(I1), (B)-(IV), (C)-(LLD), (D)-(I)

Options :

92090641849. 1
92090641850. 2
92090641851. 3
92090641852. 4

Question Number : 63 Question Id : 92090610596 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gt [ a1 gt 11 % & fiems Sifa |

A1 gt 11
(A) A (I) Fecsfear
(B) ammEfHfE (1) = Higar
(C) gyd (I1T) swg=
(D) =% (IV) g% e
feu o famedl § & & I T F99 HitAC

(1) (A)-II), (B)-(D, (C)-(IV), (D)~(II)
(2)  Q-aD), (B)-(II), (C)-(D), (D)-(IV)
(3)  (A)-ID), (B)-(D), (C)-(II), (D)-(AV)
4 W)-aD), (B)-(IV), (C)-(IID), (D)-(1)

Options :
92090641849. 1



92090641850. 2
92090641851. 3
92090641852. 4

Question Number : 64 Question Id : 92090610597 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reason (R).
Asgertion (A) : A L. Basham questioned the wisdom of looking at ancient India from the
modern point of view.

Reasons (R) : His book, ‘The Wonder that was India’ is a sympathetic survey of various

facts of ancient Indian Culture.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A).

(3 {A) is correct but (R) is not correct.
(4) {A) is not correct but (R) is correct .
Options :

92090641853. 1
92090641854. 2
92090641855. 3
92090641856. 4

Question Number : 64 Question Id : 92090610597 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



9= g weH £ : Us sifyeafed (Assertion A)% w0 H fafga B A gEU e FRW
(Reason R) & =9 4 :

Assertion (A) : FH WA ® FYFHH EHO H @ H ghgAw W LUAIAH 1 FH
famg e |

Reason (R): ﬁw?ﬁﬁm?&m‘,mmﬁ@ﬁ%ﬁﬁlﬁmaﬁ
&1 R HIET 2 |

IRIE HYAT & T | 1= G T fomhedl § 9 Faifus I9ga 3T H1 994 S

(1)  (A) @ (R) GH1 |8 & 791 (R), (A) 1 w8l =me 2|

(2)  (A) @ (R) aFi aé & ofha (R), (A) i @& =men & 2|
(3) (A) @& & <ife (R) 98 98 2 |

(4) (A =@l 4@ € @A (R) 5 2

Options :

92090641853. 1
92090641854. 2
92090641855. 3
92090641856. 4

Question Number : 65 Question Id : 92090610598 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct statements:

(A) The Asiatic Society of Bengal was established in 1785.
(B)  Sir William Jones translated Bhagvadgita.

() Manusmriti was translated into English in 1776.

(D)  The Bombay Asiatic Society was set up in 1804,

(E) The Asiatic Society of Great Britain was set up in 1823.

Choose the correct answer from the options given below :

(1) A, B and C only
2) B. C and D only
3) C, D and E only
{4) A, D and E only

_—

Options :



92090641857. 1
92090641858. 2
92090641859. 3
92090641860. 4

Question Number : 65 Question Id : 92090610598 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TEl HEHAI = TETH I

(A) ‘g URETes HEEE HATE S R T 1785 3. HES |
(B) = faferay sia = wearfiar &1 31qarg fwam |

(C) =F9d &1 sfew § 3aE 1776 H 317 |

(D) ‘g @ ufEfas SEEE i T 1804 3. 6 g8 |

(E) ‘g ufsmnies qmmEd A% U2 fordd i 29ar 1823 3. 5 g5 |

= fgd ™ fasel § § waifus 3999 I T |

(1) == (A), (B) 7= (C) (2) a# (B), (C)a=r (D)
(3)  F=F= (C), (D) 741 (E) (4) =Ha= (A), (D) 797 (E)
Options :

92090641857. 1
92090641858. 2
92090641859. 3
92090641860. 4

Question Number : 66 Question Id : 92090610599 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Matech List I with List IT :

List 1 List 11
(&) R.5. Sharma {I) " Politics, Law and Rituals in
Tribal Society
(B) L.H. Morgan (I} India’s Ancient Past
(Cy M. Gluckman (lII} Ancient Society
(D} Will Durant (IV) The Story of Civilization
Choose the correct answer from the options given below:

(1) (A)-(D), (B)-(11), (C)-(IV), (D)-(11D)
(2) (A)-(IL1), (B)-(LL), (C)-(1), (D)-(IV)
(3) (A)-(II), (B)-(1L), (C)-(D), (D)-(IV)
(4) (A)-(ILI), (B)-(I), (C)-(IV), (D)-(1I)

Options :
92090641

861.1

92090641862. 2

92090641
92090641

Question
Question

863.3
864. 4

Number : 66 Question Id : 92090610599 Question Type : MCQ Option Shuffling : No Is
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

=t 151 =t 11 % 519 faem Fifag )
g 1 g 11
(A) F.uE, 79 (I) wifaferm, @ we fgae = gad aEEd
(B) wel.wd. A (1) sfeam TARE= 9
(C) wH.TeHa (I11) wAfir= HEmEe
(D) foet gua (IV) & =i #A1% fafaerssom

H= feu T fasea O § wE 39 %1 994 SHifg

(1)

@)

3)

(4)
Options :

(A)-(D), (B)-(ID), (C)-(IV), (D)-(1I)
(A)-(1D, (B)-(ID), (C)-(I), (D)-(IV)
(A)-(ID), (B)-(11D), (C)-(D), (D)-(IV)
(A)-(IID), (B)-(D), (C)-(1V), (D)-(II)



92090641861. 1
92090641862. 2
92090641863. 3
92090641864. 4

Question Number : 67 Question Id : 92090610600 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I[tihaas literally means:

(1) a story of past {2) which belongs to past

(3 thus it was (4) a realistic list of past

Options :

92090641865. 1
92090641866. 2
92090641867. 3
92090641868. 4

Question Number : 67 Question Id : 92090610600 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(1) wrdta & TS (2) foem s & g B
(@ =EméAw (4) a1 oF FEErd g

Options :

92090641865. 1
92090641866. 2
92090641867. 3
92090641868. 4

Question Number : 68 Question Id : 92090610601 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who among the following was the first astronomer to give a scientific explanation of eslipses?

(1) Varahamihira (2) Brahmagupta
(3 Arvabhatt (4) Bhaskara



Options :

92090641869. 1
92090641870. 2
92090641871. 3
92090641872. 4

Question Number : 68 Question Id : 92090610601 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frforfisn § & 98 =1 @1 vuw et o faes me S Sl smen &y
(1)  amefife (2) wETA
(3  smiwg (4) W

Options :

92090641869. 1
92090641870. 2
92090641871. 3
92090641872. 4

Question Number : 69 Question Id : 92090610602 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following in chronological order:

(A) The earliest use of zero in Arabia.

(B  The Sulvasutras set out the knowledge of measurement and geometry.
() Discovery of Zero.

(I Birth of Kapila. founder of the Samkhya System.

(E) The composition of Ayurveda.

Choose the correct answer from the options given below :

(1) C.,A D Eand B
2) C.B.A Eand D
3 D.B.C, Eand A
(4) ACD Eand B

— -

Options :

92090641873. 1
92090641874. 2
92090641875. 3
92090641876. 4



Question Number : 69 Question Id : 92090610602 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fr=fefiga 1 @& FewaHaR afeE Sifa:

(A) 37E H I % qad TR W40

(B) Hoaugal § °19 UF SAIMEfd & TH & Ty
(C) ¥ &1 I@EEFR

(D) ®iET =GEd & 6, e H 949

(E) 1gde & oo

fafafas fawea ¥ 9 w1 393 =1 =99 Fifau -

(1) (C). (A), (D), (E) a1 (B) (2) (C), (B), (A), (E) 741 (D)
(3) (D), (B), (C), (E) 74 (A) (4) (A), (C), (D), (E) 7 (B)
Options :

92090641873. 1
92090641874. 2
92090641875. 3
92090641876. 4

Question Number : 70 Question Id : 92090610603 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List 1 with List 11 :

List I List I1
(A) Northen Black polished (I) Abundance of animal bones.
Ware
(B) Black and Red Ware (II) Ful zeale agricultural
technology.
() Neolithic eulture (II1} Ceramic par excellence.
(D) Mesolithic period (IV) Coming of iron technology.

Choose the correct answer from the options given below:

(1) (A1), (B)-(I), (C)-(11D), (D)-(IV)
(2) (A, (B)-{1D), (C)-(1V), (D)-(11D)
(3)  (A)-(I), (B)-(IV), (C)-(I), (D)-(111)
(4)  (A)-(ID, (B)-(IV), (C)-(1D), (D)-(D)

Options :

92090641877. 1
92090641878. 2
92090641879. 3
92090641880. 4

Question Number : 70 Question Id : 92090610603 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gt 11 g+t 11 % =1y e $ifag |

HqA 1 g 11
(A) Il el SHHGH TEHIUS M st 6t wfei $ wEw
(B) el a91 AT JEAUS 11y qUi =" FH THAH
(C) =amamT Hehla (I11) 37eYq Heume
(D) =T Hie (IV) ©itg et H1 AT
feu mu faweui § @ @& I F1 =74 Hifsw

(1) (A)-ID, B)-(D), (C)-I1D), D)-(IV)
2 W)@, B)-D), (C)-aV), (D)-(1I)
@ W)-aD), (B)-(1V), (C)-(D), (D)-(1I)
(4  (A)-ID), (B)-(IV), (C)-(I1), (D)-(I)

Options :

92090641877. 1
92090641878. 2
92090641879. 3
92090641880. 4

Question Number : 71 Question Id : 92090610604 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

At Bhimbetka or elsewhere which of the following are not depicted in Indian Mesolithic
painting?

(1) Squirrel {2) Scorpions
(3) Snakes (4) Tiger
Options :

92090641881. 1
92090641882. 2
92090641883. 3
92090641884. 4



Question Number : 71 Question Id : 92090610604 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
et weama foal 5, Hivses a1 1= w8 ot f=fafaa @ | feme foaw 78 gan 27

(1) firered 2) fo=g
(3) =9 (4) ==
Options :

92090641881. 1
92090641882. 2
92090641883. 3
92090641884. 4

Question Number : 72 Question Id : 92090610605 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct statements with regard to the Satvahanas:

(A) The Satavahanas are identified with the Andhra of the puranas.
(B) The Matsya and Brahmanda Puranas list 30 kings.

(C) The Vaya Purana lists 17 kings .

(D) The third king of the dynasty was Satakarni-1.

(E) The Satavahanas and Shakas never engaged in any conflict.

Choose the correct answer from the options given below :

(1) (A), (B), (C) and (D) only
(2)  (A), (C), (D) and (E) only
(3) (A), (B), (D) and (E) only
(4)  (B), (C), (D) and (E) only

Options :

92090641885. 1
92090641886. 2
92090641887. 3
92090641888. 4

Question Number : 72 Question Id : 92090610605 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HITdTEA] & T 0, &l HYA] 1 T89H Hifad:

(A) ETaETEAl I, AV % AFE & T H 9EEET 96T E |
(B) Te= a1 ST GO 30 TNAT i g o 7 |

(C) arqar 17 T3t i =t gar & |

(D) 38 aw 1 i ArEH Frepofi-1 91

(E) @radmei a9 Wi = a9 Sl g9 T8 §377 |

fi= o3 m fapedi § @ @@ Iw Ry

(1) == (A), (B), (C) 721 (D) (2) %4 (A), (C), (D) a1 (E)

(3) #aa (A), (B), (D) 741 (E) (4) Fa« (B), (C), (D) a1 (E)
Options :

92090641885. 1
92090641886. 2
92090641887. 3
92090641888. 4

Question Number : 73 Question Id : 92090610606 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement [ :  Royal patronage was an important source of prestige for ancient

religious sects.

Statement I :  Ajatshatru never visited to the Buddha.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both Statement [ and Statement Il are correct.
(2) Both Statement [ and Statement Il are incorrect.
(3) Statement 1 is correct but Statement 11 is incorrect.

(4) Statement 1 is incorrect but Statement 11 is correct.

Options :

92090641889. 1
92090641890. 2
92090641891. 3
92090641892. 4

Question Number : 73 Question Id : 92090610606 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



i g1 Y feT T E

Fo () : WA aifties HgEil & fordl Usehig e Sfasn &1 Teaq 9 o7 |
FA (1) :  3remawe &9 Ff 98 & 99 78 ™= |

3T HeHT b T H, FefatEa famedt § % wd 39 & 959 Hifa

(1) FF () 7 FF (1) G 8 2

(2 =+ (D) 7 %44 (1) SHF a9 & |

(3) YA (I) WE 2, aifepd oA (11) 7Ted 2 |

(4) =¥ (D) Terd 2, iR sy (1) F8 7 |

Options :

92090641889. 1
92090641890. 2
92090641891. 3
92090641892. 4

Question Number : 74 Question Id : 92090610607 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT :

List I List 11
(A) Nitisara (D A store house of popular
folklores.
(B) Manjushrimulakalpa (I) A lost drama written by
Vishakhadatta.
(C) Devi-Chandragupta (III) A buddhist Mahayana text.
(D) Kathasaritsagar (IV) A work on polity.

Choose the correct answer from the options given helow:

(1) (A)-(IV), (B)-(1D), (C)-(ID), (D)-(D
(2) (A)-(ID), (B)-(IV), (C)-(ID), (D)-(D
(3)  (A)-(IV), (B)-(I), (C)-(1D), (D)-(1L)
(4) (A)-(ID), (B)(I1D), (C)-(I), (D)-(IV)

Options :
92090641893. 1



92090641894. 2
92090641895. 3
92090641896. 4

Question Number : 74 Question Id : 92090610607 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gt [ &1 gt 11 % a1y faems ifag |

T 1 T+t 11
(A) fifaEr (I) sl Sygfaar &1 ¥er
(B) wpfieihed (11) favmaren g fafed ™ T
(C) eft-wzr= (I11) = &g 7e@™ T4
(D) a1 FiETE (IV) T=Fd= T UH FE
feu mu fawedi § @ 98 I F1 =T Hifsw

(1) (A)-AV), (B)-(I1I), (C)-I), (D)-(D)
(2 (W)-(1D), (B)-(IV), (C)-(II), (D)-(I)
@) A)-IV), (B)-(), (C)-(1), (D)-(I1I)
4)  (A)-ID, (B)-(11D), (C)-(1), (D)-(AV)

Options :

92090641893. 1
92090641894. 2
92090641895. 3
92090641896. 4

Question Number : 75 Question Id : 92090610608 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Samundragupta’s coins represent him in various poses. Which one of the following is
correct:

(A) Shown as an archer holdings bow in his left hand.

(B) Shown as an archer holdings an arrow in his right hand.

(C) Standing with a battle axe in his left hand.

(D)  No female figures have been shown on Samudragupta’s coins.

(E) Shown sitting on a couch, playing the vina.

Choose the correct answer from the options given below :

(1) (A), (B), (C) and (D) only
(2)  (A), (0), (D) and (E) only
(3) (A), (B), (D) and (E) only
(4)  (A), (B), (C) and (E) only

Options :

92090641897. 1

92090641898. 2

92090641899. 3
92090641900. 4

Question Number : 75 Question Id : 92090610608 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
w38 fafi miedt § qufa &) frefafea § § 99 @ w0 wd &2

(A) UH g F w9 § fommEn w0 2 S 9y w6 9wy | s 2
(B) U uHHT % w9 § fe@rn w1 8 Sl Al R i 'Y H 9o #|
(C) ¥ =13 719 § gg FoN (Feardh) T 2l

(D) ST & fhaehi W S wfeen aHfa 72 feas T 2

(E) U 35 9 93 101 =7 & 2 |

<y fod i Faependt & & Wl 3w P
() ¥ (A), (B), (C) 7= (D) @ ¥ (A), (O), (D) 741 (E)
@ ¥ (A), (B), (D) 71 (E) (4) ¥ (A), (B), (C), 71 (B)

Options :



92090641897. 1
92090641898. 2
92090641899. 3
92090641900. 4

Question Number : 76 Question Id : 92090610609 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List II :

List 1 List 11
(A) Bull Capital (I)  Lauriva-Nandangarh
(B) Elephant Capital (IIY Sanchi
(C) Quadruple Lions Capital (III) Rampurva
(D) Lion Capital (IV) Sankissa

Choose the correct answer from the options given below:

(1) (A)-(IV), (B)-(I1I), (C)-(1D), (D)-(I)

(2) (A)-(111), (B)-(1V), (C)-(1I), (D)-(I)

(3) (A)-(D), (B)-(1L), (C)-(1V), (D)-(111)

(4) (A)-(1LI), (B)-(1), (C)-(IV), (D)-(11)
Options :

92090641901. 1
92090641902. 2
92090641903. 3
92090641904. 4

Question Number : 76 Question Id : 92090610609 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=t 151 =1 11 % 719 faem #ifag |

g1 gt 11
(&) 9 = M i - T
(B) &ftd wwef 1) =t=h
(C) =qfEE @Y (I1T) THEET
(D) féiz T (IV) fa
feu Tu fasweqi 4 & wé I F1 9 Fifaw

(1) (A)-(IV), (B)-(I1I), (C)-(IT), (D)-(T)
(2 AQ)-ID), (B)-AV), (C)-(ID), (D)-(I)
3 A)-), B)-(D), (C)-(AV), (D)-(ILI)
4)  (A)-ID), (B)-(D), (C)-(V), (D)-(1D)

Options :

92090641901. 1
92090641902. 2
92090641903. 3
92090641904. 4

Question Number : 77 Question Id : 92090610610 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reason (R):

Assertion (A):  There are no specific details about the origins or social background of the
Guptas.

Reasons (R) : The assertion that they were vaishyas is based on the recommendation in

texts such as Kathasaritsagar

In the light of the above statements, choose correct the answer from the options given below :

(1)

Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A).
(3) {A) is correct but (R) is false.
() (A) is false but (R) is ture.

Options :

92090641905. 1
92090641906. 2
92090641907. 3
92090641908. 4

Question Number : 77 Question Id : 92090610610 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
= g Y E : s AfUsAEd (Assertion A)% ®9 T fofad B a1 @0 3WH HAW

(Reason R) & &9 ¥ :

Assertion (A) : 1 % 3¢7 FN 39! AHIIH JEHH & a1 § 5 Hiead STEEHAT T8 8 |

Reason (R): I8 A1 o6 o 999 9, FYUEETR 946 =41 i BT 91 A9 2 |

I HUAT & Y9 1 A= e mu fawmedt 4 € 98 3 w1 954 fifav

(1)
()
3
(4)

(A) 791 (R) g1 Wél € a1 (R), (A) i @l =a0e1 2 |

(A) a1 (R) g1 HEl € w1 (R), (A) i =l =men 74 2|
(A) =8l B wifs (R) wél 78 2 |

(A) wél 71 2 =i (R) @l 2|



Options :

92090641905. 1
92090641906. 2
92090641907. 3
92090641908. 4

Question Number : 78 Question Id : 92090610611 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reason (R):

Assertion (A):  An inscription mentioning the Ayyavole was found at Padaviya in Srilanka.
Reasons (R) : There was reciprocal interaction between the south, South East and East
Asgia.

In the light of the above statements. choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A).

(3) (A) is correct but (R) is not correct.
(4) (A) is not correct but (R) is correet .
Options :

92090641909. 1
92090641910. 2
92090641911. 3
92090641912. 4

Question Number : 78 Question Id : 92090610611 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A g ®YA § : U AfusAfad (Assertion A)% ®9 4 foiflgd 8 91 RO 39 &AW
(Reason R) & =9 ¥ :

Assertion (A) : T fiyerm 599 3= &1 3oeoi@ 2 Aot o verfaar 4 e 2 |
Reason (R): <fém, efémr o awn oo ufimn o ot s Gram ot |

I HYAT & TH J A= Gu 1 fomwedl & & gaifas I9gaa Io 1 =94 Hifan

(1)  (A) @1 (R) GH1 @& & a1 (R), (A) i T8 ==& & |
(2) (A) @9 (R) gHT |8 & e (R), (A) it =t =amen 78 81
(3) (A) =& 2w (R) @& 721 2|

(4) (A) = 7 2 @R (R) 5 2

Options :

92090641909. 1
92090641910. 2
92090641911. 3
92090641912. 4

Question Number : 79 Question Id : 92090610612 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



GGiven below are two statements : One is labelled as Assertion (A) and the other is

labelled as Reason (R):

Assertion (A) : The expanding contacts between South India and South East Asia

are reflected in inscriptions and sculptures.

Reasons (R) :  The Tanjore inscription of Rajendra Chola I mentions a kingdom of

Madamalingam.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A).
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A).
(3) (A) is correct but (R) 15 not correct.

(4) (A) 15 not correct but (R) is correct.

Options :

92090641913. 1
92090641914. 2
92090641915. 3
92090641916. 4

Question Number : 79 Question Id : 92090610612 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
d2 9 wum § ;v IfieafF (Assertion A) % w9 f fffiga @ 9 g0 35% FA (Reason R) % 59 8 -

Assertion (A) :  efew wma Fun gfaw o= ofir & ¥ e we afierat g gfiet d wfifefem )
Reason (R): e dJre | &1 Jen sfiens gemfem (Madamalingam) % 1=y =1 T = 2

9T wA o g | A e feeedi 4 @ et s e wgm fif

() () a (R) S = & qan (R), (A) it 5l =aren 2

(@) ()7 R) I wd E afe (R), (A) @ smen T R
(3 () FA R s R wh TR

(4) (A EF FF 8 v (R) &8 R



Options :

92090641913. 1
92090641914. 2
92090641915. 3
92090641916. 4

Question Number : 80 Question Id : 92090610613 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following in chronological order:

(A) Chola military expedition to Indonesia.

(B) A trade mission sent by Rajaraja Chola to China.

(C) Chola military expedition to Sri Lanka.

(D) Corporate organization of merchants became very prominent.

(E)  Chola militry expedition to Malaysian penisula.

Choose the correct answer from the options given below :

(1) (A), (C), (D), (E) and (B)
(2)  (C), (A), (E), (B) and (D)
(3) (D). (B). (E), (A) and (C)
(4)  (E), (B), (C), (D) and (A)

Options :

92090641917. 1
92090641918. 2
92090641919. 3
92090641920. 4

Question Number : 80 Question Id : 92090610613 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fr=fafaa &1 98 Femaan safem fifb:

(A)
(B)
(©)
(D)

(E)

SEHTIRET W e # e

T3 il g Ueh ST A = = T |
Hierh! W T 84 AAhEE

SATTRET 1 THfEF S 95 Tyl & T4 |
T SR W@ 8 e

i e T fasedl § | Haitus 3999 I g

(1)
(3

(A), (C), (D), (E) 7 (B) (2) (C), (A, (E), (B) 7 (D)
(D), (B), (E), (A) 7= (C) (4) (E), (B), (C), (D) 7T (A)

Options :

92090641917. 1
92090641918. 2
92090641919. 3
92090641920. 4

Question Number : 81 Question Id : 92090610614 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List 1 with List 11 :

(A)
(B)
(€)
(D)

List I List I1

China Patta (Il  An Indian Brahman
Kichaka (II' Chinese Cloth
Kaundinya (I1I) Bamboo
Chaturanga (IV) Chess

Choose the correct answer from the options given below:

(1)
2)
3)
4)

—

(A)-(1), (B)-(11D), (C)-(1D), (D)-(IV)
(A)-(1L), (B)-(ILL), (C)-(D), (D)-(IV)
(A)-(111), (B)-(1D), (C)-(IV), (D)-()
(A)-(IV), (B)-(111), (C)-(D), (D)-(1I)

Options :
92090641921. 1
92090641922. 2



92090641923. 3
92090641924. 4

Question Number : 81 Question Id : 92090610614 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gt 11 5=t 11 % &g faem $ifaw

il T 11
(A) = g () T 9w
(B) =t () =t ===
(C) =ifs= (III) =9 (bamboo)
(D) =@ (IV) =198 (chess)
feu Tu fasedi § & T I #5199 Fifaw

(1) A)-[, (B)-(1), (C)-(I), (D)-IV)
(2)  (A)-(ID), (B)-(I1I), (C)-(I). (D)-IV)
(3)  (A)-D, (B)-AD, (C)-IV), (D)-D)
(4)  (W)-AV), (B)-1D), (C)-(@), (D)-(II)

Options :

92090641921. 1
92090641922. 2
92090641923. 3
92090641924. 4

Question Number : 82 Question Id : 92090610615 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT :

List I List 11
(A) Menander (I)  Apollo clad in chamys and
boots.
(B) Apollodotos (I) Helmeted head of king.
(C) Sophytes (III) Diademed head of king.
(D) Hippostratos (IV) Elephant head with bell
round neck.

Choose the correct answer from the options given below:

(1)  (A)-IV), (B)-(D), (C)-(I1D), (D)~
(2)  (A)-O), (B)-(ID, (C)-AV), (D)-(IIL)
(3 (A)-aV), B)-(D), (C)-(), (D)-(ILI)
(4)  (A)-ID, (B)-(II), (C)-(D), (D)-(AIV)

Options :

92090641925. 1
92090641926. 2
92090641927. 3
92090641928. 4

Question Number : 82 Question Id : 92090610615 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=t [ 51 =1 11 % #1y oo shifa |

il o=t 11
(A) et 1) = & g au S TE BT S
(B) AdicAiees (1) = =1 e |fga &
(C) H%TEeH (I11) §ape &fga T &1 faw
(D) fewii widw (IV) el = =9/ 307 981 & @1y e i
feu o fyeredl § § 9E I 1 999 ST

(1) (A)-IV), (B)-(ID, (C)-L), (D)-(D
2 @AM, B)-ID), (©)-(IV), (D)-IID
@) (A)-IV), B)-[D). (C)-dD, (D)-(IID
@) (A)-aD, (B)-ID), (C)-(D), D)-AV)

Options :

92090641925. 1
92090641926. 2
92090641927. 3
92090641928. 4

Question Number : 83 Question Id : 92090610616 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement | :  The middle Palaeolithic artefacts in the Thar region occur in reddish
brown soil.
Statement 1 : It indicates more abundant vegetation, more surface water and a cooler

climate compared to lower Palaeoclithic times.
In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement | and Statement 1l are true.
(2) Both Statement | and Statement 11 are false.
(3) Statement [ iz true but Statement 11 is false.

(4) Statement [ is false but Statement 11 is true.

Options :

92090641929. 1
92090641930. 2
92090641931. 3
92090641932 4

Question Number : 83 Question Id : 92090610616 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EICRARC e R e o 4

FUF (I): oW & § 76 g0 i gwhiaal aa gl g # 8 |

FUA (1) : = g w1a 61 g § 78 v 91 g, Afus gl 9w au @
Fifieh 3 FaTe i AR 3P @ 8 |

3 HeHT & b H, Fefaiad fased @ % 9€ 3w & 9aw Fifa

(1) % (1) 72 e (D) <= &8 2 |

(2) HFA () 721 H2H (11) T Terd & |

(3) e (1) @l B, wifhd w97 (11) 7Terd 2 |

(4) e (1) Terd 2, A wUA (10) T 2|

Options :
92090641929. 1
92090641930. 2



92090641931. 3
92090641932. 4

Question Number : 84 Question Id : 92090610617 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which was the first palaeolithic tool that was discovered in India?

(1) Blade (2) Handaxe
(3) Cleaver (4) Flake
Options :

92090641933. 1
92090641934. 2
92090641935. 3
92090641936. 4

Question Number : 84 Question Id : 92090610617 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
qRA T G T GYY [T 3R a9r?

(1) e (blade) (2) #=%3X (hand axe)
(3) faerdfi (cleaver) (4) e (flake)
Options :

92090641933. 1
92090641934. 2
92090641935. 3
92090641936. 4

Question Number : 85 Question Id : 92090610618 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tilwara is located at:

(1) Jaipur, Rajasthan (2) Mount Abu, Rajasthan
(3) Barmer, Rajasthan (1) Udaipur, Rajasthan
Options :

92090641937. 1



92090641938. 2
92090641939. 3
92090641940. 4

Question Number : 85 Question Id : 92090610618 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

foreraret T2l faum 2:

(1) &Y, T (2) W¥e A, T

(3) @TEE, TSN (4) 3ISAR, TRYH
Options :

92090641937. 1
92090641938. 2
92090641939. 3
92090641940. 4

Question Number : 86 Question Id : 92090610619 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct statements:

(A) The principal gestures are known as mudra in Buddhist art.
(B) In the Dharmachakramudra the hand is in lap.

(C) The gesture of charity is called Varamudra.

(D) The gesture of argument is called Abhavamudra.

Choose the correct answer from the options given below :

(1) (A), and (B) only
(2) (A), and (C) only
() (), and (C) only
(4) (B). and (D) only

Options :

92090641941. 1
92090641942. 2
92090641943. 3
92090641944. 4

Question Number : 86 Question Id : 92090610619 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

HE HEAT hl TEAM BT

(A) g won § g 9T &I ga1 Fe e 2
(B) wduszI A Eg e H E|

(C) T 1 Hhd SHZT Feewdl 2 |

(D) @% (argument) T Hehd FTTIHZT FEATT £ |

Fra fear 73 faswedi § & ad I 9w

(1) =a= (A) 741 (B) (2) A (A) a9 (C)

(3) e (B) 74 (C) (4) g (B) 741 (D)
Options :

92090641941. 1
92090641942. 2
92090641943. 3
92090641944. 4

Question Number : 87 Question Id : 92090610620 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is

labelled as Reason (R):

Assertion (A) : The technical excellence of the metal dancer from Mohenjodaro is

surpassed by asthetic sense of artist.

Reasons (R):  The negroid features of this figure show that the sculpture was

influenced by civilizations for beyond the shores of India.

In the light of the above statements, choose the correct answer from the options given

below -

(1) Both (A) and (R) are ture and (R) is the correct explanation of (A).
(2) Both (A) and (R) are ture but (R) is NOT the correct explanation of (A).
(3) (A) is ture but (R) is false.

(4) (A) is false but (R) is ture .

Options :

92090641945. 1
92090641946. 2
92090641947. 3
92090641948. 4

Question Number : 87 Question Id : 92090610620 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= g ®UF B : Us feafdd (Assertion A)% w9 ° fafgd 2 a1 gEU 3 wAw
(Reason R) & =9 7 :

Assertion (A) : FARR & Higd 919 7 HETAGE! H T 9Tq I Aeih! i deh-iih! HIreTdl
&I T L A E |

Reason (R): & Fuieae (negroid) fesmwarsti @ uar 9eian 2 o6 gfden wrdr a2
H He I gEara § warfed o)

IR HYAT & T H A4 57 T fomwedl 5§ Faiis 99 I 61 994 hIaC

(1) (A @@ (R) THT 98 & 391 (R), (A) Ft 58t == 2|

(2) (A) T (R) <HT w81 & wifd (R), (A) 1 &t =3men =8 2 |
(3) (A) @ & afm (R) 581 78 2

(1) (A) =& TE 2 @fe (R) w8 2|

Options :

92090641945. 1
92090641946. 2
92090641947. 3
92090641948. 4

Question Number : 88 Question Id : 92090610621 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Identify the correct statements:

(A) The Shivalinga from Bhita has seven heads.
(B)  Earliest magnificent exploits of Varaha i1s in Udayagiri Cave.
(C) The Tirthankaras of Kushan period had swastik mark on their chest.

(D) The finest metal statue from Pallava-Chola tranisition period shows Krishna
conquering the demon Kaliya.

Choose the correct answer from the options given below :
(1) (A), and (B) only
(2) (B), and (C) only
(3) (B), and (D) only
(4)  (A), and (C) only
Options :



92090641949. 1
92090641950. 2
92090641951. 3
92090641952. 4

Question Number : 88 Question Id : 92090610621 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TEl HEHAT h TEEH I

(A) o & gt fiEfe & @ E
(B) 9N % Wiag A Igahil TE H 2 |
(C) FuT FTd & bl o i T @iias - gar 91|

(D) YeoEa-die TRA I I UG H FEE g F97 H o o 1 faee foamd g |

et fez T fashedi § & walfus 3uged I 90

(1) Haa (A) 741 (B) (2) == (B)am (C)
(3) == (B) 941 (D) (4) = (A)7F91 (O)
Options :

92090641949. 1
92090641950. 2
92090641951. 3
92090641952. 4

Question Number : 89 Question Id : 92090610622 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many gramikas are said to have been summoned by Bimbisara?

(1) 86 thousand (2) 26 thousand
(3) 16 thousand (4) 36 thousand
Options :

92090641953. 1
92090641954. 2



92090641955. 3
92090641956. 4

Question Number : 89 Question Id : 92090610622 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

faftgan 4 T ofi=i =t g aT s 2 7

(L 86 74 (2) 268X
(3 16EW (4) 36&EN
Options :

92090641953. 1
92090641954. 2
92090641955. 3
92090641956. 4

Question Number : 90 Question Id : 92090610623 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who was the first tirthankara of Jainism?

(1} Mahavira (2) DParshvanatha
(3) Rishabhadeve (4) Chetaka
Options :

92090641957. 1
92090641958. 2
92090641959. 3
92090641960. 4

Question Number : 90 Question Id : 92090610623 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S99 & gy dide w97

(1) HeER (2) TrEy
(3) w9 TE (4) =
Options :

92090641957. 1



92090641958. 2
92090641959. 3
92090641960. 4

Question Number : 91 Question Id : 92090610624 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following gives list of six or eight types of marriage?

(1) Shatapatha Brahamana (2) Aitareya Brahamana
(3) Maitravani Samhita (4) Grihyasutras
Options :

92090641961. 1
92090641962. 2
92090641963. 3
92090641964. 4

Question Number : 91 Question Id : 92090610624 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frfefiga § 4 frad 6 71 8 woR = faare & o=t o 87

(1) w9y & (2) VA FE
(3) Tl dfgan (4) T@Ea (Grihyasutras)
Options :

92090641961. 1
92090641962. 2
92090641963. 3
92090641964. 4

Question Number : 92 Question Id : 92090610625 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrage the following in correct chronological order:

(A) Brihastsamhita by Varahamihira.
(BY The Kamasutra of Vatsyana.

(C) Ptolemy's Geography.

(D) Narada Smriti.

(E) Rajatarangini by Kalhana.

Choose the correct answer from the options given below :
(1) (A), (B), (D), (C) and (E) only

@  (B). (D), (A), (C) and (E) only

3 (0. (B), D). (4) and (E) only

(4) (D), (B), (A), (C) and (E) only

Options :

92090641965. 1

92090641966. 2

92090641967. 3
92090641968. 4

Question Number : 92 Question Id : 92090610625 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frefafaa =1 FesraEn safem Fifs

(A) dAWEMEE g FEearear
(B) SwEEA A

(C) et 1 PR

D) ‘g i

(E) oew g ‘s’

f=fafaa fawen o & 98 30 =1 =97 $ifaw .

(1) (A), (B), D), (C)7= (E) (2) (B), (D), (A), (C) 71 (E)
3) (O), (B), (D), (A) T (E) (4) (D), (B), (A), (C)au (E)
Options :

92090641965. 1



92090641966. 2
92090641967. 3
92090641968. 4

Question Number : 93 Question Id : 92090610626 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who was mother of Buddha?

(1) Amarpali (2) Maya
(3) Gotami (4) Sujata
Options :

92090641969. 1
92090641970. 2
92090641971. 3
92090641972. 4

Question Number : 93 Question Id : 92090610626 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gg | of =i oft?

(0 HTETEAL (2) =

(3 et (4) ¥
Options :

92090641969. 1
92090641970. 2
92090641971. 3
92090641972. 4

Question Number : 94 Question Id : 92090610627 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The tamil word pattinam means:

(1) Bank (2) Port
(3) Capital (4) Emporium



Options :

92090641973. 1
92090641974. 2
92090641975. 3
92090641976. 4

Question Number : 94 Question Id : 92090610627 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afier weg afeem =1 319 2:

(1) == (2) W

(3) =T (4) ¥E 91 ==
Options :

92090641973. 1
92090641974. 2
92090641975. 3
92090641976. 4

Question Number : 95 Question Id : 92090610628 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the fullowing title was used by Kushana Kings?

(1) Devaputra (2) Shakashauta
(3 Kshatrapa (4) Mahakshatrapa
Options :

92090641977. 1
92090641978. 2
92090641979. 3
92090641980. 4

Question Number : 95 Question Id : 92090610628 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FHU 13T g1 F=fciiaa § & $iA & 39 5= i A o7

-

(1) <ag (2) ¥ehEdl
(3) S ER (4) HEEET



Options :

92090641977. 1
92090641978. 2
92090641979. 3
92090641980. 4

Question Number : 96 Question Id : 92090610629 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following text narrates the story of a military encounter between prince
Vasumitra and a yavana army on the banks of Sindhu?

(1) Divyavandana (2) Harshacharita
(3) Malavikaginmitra (4) Brihadaranyaka
Options :

92090641981. 1
92090641982. 2
92090641983. 3
92090641984. 4

Question Number : 96 Question Id : 92090610629 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
f5g &% ¢ W U9FAR JYET a9 Th qa4 §41 & o9 49 fHEd 6 FEE B oauA
frfeiiga 9 & &9 &1 779 a1 87

(1) femmagH (2) Be=ERa
(3) A= (4) TEGHUHH
Options :

92090641981. 1
92090641982. 2
92090641983. 3
92090641984. 4

Question Number : 97 Question Id : 92090610630 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



An inscription on the Allahabad-Kosam pillar mentions about the gifts made by:

(1) Subhadrangi (2) Karuvaki
(3 Janapadakalvani (4) Devi
Options :

92090641985. 1
92090641986. 2
92090641987. 3
92090641988. 4

Question Number : 97 Question Id : 92090610630 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SEMEIE - hiFH e T ATei@ 3% g & 15 92l 1 9u Hdl &

(1)  qugr (2) FEaTR
(3) S UEHeET (4) e
Options :

92090641985. 1
92090641986. 2
92090641987. 3
92090641988. 4

Question Number : 98 Question Id : 92090610631 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Jaina doctrine of Syadavada literally means:

(1) The doctrine of to be. (2) The doectrine of for.
(1) The doctrine of may be. (4) The doctrine of with.
Options :

92090641989. 1
92090641990. 2
92090641991. 3
92090641992. 4

Question Number : 98 Question Id : 92090610631 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

o Taga wmeae =1 wmises 319 2:

(1) & = fgE (2) o = fagm
(3) v % fagE (4) g = fagi
Options :

92090641989. 1
92090641990. 2
92090641991. 3
92090641992. 4

Question Number : 99 Question Id : 92090610632 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(On whose persistent pressure, Buddha established a bhikkhuni Sangha?

(1) Ambattha (2) Aniruddha
(3 Ananda {(4) Chanda
Options :

92090641993. 1
92090641994. 2
92090641995. 3
92090641996. 4

Question Number : 99 Question Id : 92090610632 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e TR 3UY T g A U fugeft g9 & wrem i

(1) Y 2 wfasg
(3 g (4) =@
Options :

92090641993. 1
92090641994. 2
92090641995. 3
92090641996. 4

Question Number : 100 Question Id : 92090610633 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which god combined in himself the aspects of asceticiam and fertility?

(1) Vishnu {2y Kartik
(3) Shiva (4) Ham
Options :

92090641997. 1
92090641998. 2
92090641999. 3
92090642000. 4

Question Number : 100 Question Id : 92090610633 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

form WA 3 3 sie aufeaa 9w 3d e e

(1)  famo (2) il
@ FE (4) T
Options :

92090641997. 1
92090641998. 2
92090641999. 3
92090642000. 4



